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And they were discredited for - 57m°52wm Yy 1197 191 77253357 DY MTEN
the stealing, and they were again discredited for the slaughtering

Overview

The & m3 challenged the view that 5091 X177 ¥7917 1"y, from a Xn>12 wich stated that
if @7y testified on the 772°13 and (later on) the 7r°2v, and they were ani on both, the
rule is they must pay everything ('m '7) to the falsely accused. The question is that if
we maintain Y091 X177 37917 this means that they became 07109 from the time they
testified on the 7712°13, so their testimony on the 7r°2v 1s meaningless (since they were
already m173% 709), so why do they pay for the amav.

mMooIN asks:
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And if you will say; but there is a difficulty even according to the one who

maintains Y051 X177 R279Y I¥5% (which is x27) -
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For in any case the rule is that if there is no stealing, there is no 5793221 71193, so
when they were subsequently 2197 on the 7153w, why do the 7"V pay?!

nB0IN answers:
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And one can say because this 7" (X27) maintains that 77wn>7 is the beginning of
aRT.

Summary
There can be a 7117 after a 7wnd7 if we maintain X7 73117 09N IWhRd.

Thinking it over

How can we differentiate between our case (which m»oin is discussing) and the case
of nnti1 n%nn wnon, so that we can justify mMooIn asking this question, even though
there is a 8 n3, which states clearly that 817 maintains 77177 n%°nn 7wnon?!

! Let us assume they were oni7 on the 72°13 on Monday, and the next day, Tuesday they were an;1 on the n". However,
by then there was no longer a 72°1, since the 7171 for the 72°13 had already taken place. Once there is no 712713, their
testimony of 7" has been contradicted, since he did not steal the animal, we can say that he was n" his own animal,
so their testimony on »n" has been w2, so how can there be a mn1 after the Awnon, since this M7Y is not accepted.
2 X217 (on the 1"v) maintains that if 0>7v were first wno11 and later an7, we carry out the onT WX punishment, for we
consider the 7wno: as the beginning of the process of nri, not like something separate, so here too even though they
were wnoT first on the n"w, since they were ani later it is considered as one process of 7111 and they have to pay.
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